



Resolver cada problema.

1) $3 + (14 - 10) =$ _____

2) $(1 + 6) + 4 =$ _____

3) $(3 \times 6) \div 3 =$ _____

4) $(8 + 7) \times 10 =$ _____

5) $4 + (18 \div 6) =$ _____

6) $(5 \times 8) \times 9 =$ _____

7) $(8 + 13) \div 3 =$ _____

8) $(60 \div 6) \times 5 =$ _____

9) $(90 - 9) \div 9 =$ _____

10) $(5 \times 6) - 8 =$ _____

11) $(9 \div 3) - 1 =$ _____

12) $(3 + 6) - 6 =$ _____

13) $18 + (9 \times 5) =$ _____

14) $(3 - 1) - 1 =$ _____

15) $9 \times (12 - 5) =$ _____

Respuestas

1. _____

2. _____

3. _____

4. _____

5. _____

6. _____

7. _____

8. _____

9. _____

10. _____

11. _____

12. _____

13. _____

14. _____

15. _____



Resolver cada problema.

1) $3 + (14 - 10) = \underline{7} \quad 3 + (4)$

2) $(1 + 6) + 4 = \underline{11} \quad (7) + 4$

3) $(3 \times 6) \div 3 = \underline{6} \quad (18) \div 3$

4) $(8 + 7) \times 10 = \underline{150} \quad (15) \times 10$

5) $4 + (18 \div 6) = \underline{7} \quad 4 + (3)$

6) $(5 \times 8) \times 9 = \underline{360} \quad (40) \times 9$

7) $(8 + 13) \div 3 = \underline{7} \quad (21) \div 3$

8) $(60 \div 6) \times 5 = \underline{50} \quad (10) \times 5$

9) $(90 - 9) \div 9 = \underline{9} \quad (81) \div 9$

10) $(5 \times 6) - 8 = \underline{22} \quad (30) - 8$

11) $(9 \div 3) - 1 = \underline{2} \quad (3) - 1$

12) $(3 + 6) - 6 = \underline{3} \quad (9) - 6$

13) $18 + (9 \times 5) = \underline{63} \quad 18 + (45)$

14) $(3 - 1) - 1 = \underline{1} \quad (2) - 1$

15) $9 \times (12 - 5) = \underline{63} \quad 9 \times (7)$

Respuestas1. 72. 113. 64. 1505. 76. 3607. 78. 509. 910. 2211. 212. 313. 6314. 115. 63



Resolver cada problema.

Respuestas

7	22	63	6	2
7	7	63	1	50
9	150	3	360	11

1) $3 + (14 - 10) =$ _____

2) $(1 + 6) + 4 =$ _____

3) $(3 \times 6) \div 3 =$ _____

4) $(8 + 7) \times 10 =$ _____

5) $4 + (18 \div 6) =$ _____

6) $(5 \times 8) \times 9 =$ _____

7) $(8 + 13) \div 3 =$ _____

8) $(60 \div 6) \times 5 =$ _____

9) $(90 - 9) \div 9 =$ _____

10) $(5 \times 6) - 8 =$ _____

11) $(9 \div 3) - 1 =$ _____

12) $(3 + 6) - 6 =$ _____

13) $18 + (9 \times 5) =$ _____

14) $(3 - 1) - 1 =$ _____

15) $9 \times (12 - 5) =$ _____

1. _____

2. _____

3. _____

4. _____

5. _____

6. _____

7. _____

8. _____

9. _____

10. _____

11. _____

12. _____

13. _____

14. _____

15. _____